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An
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: N_ow we, do !Du)/f.’!i OPS,A
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me, qoursel§ s uell-cafinad) (B -
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651 LM'\M 5
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O COHN—(:{ Stm u\*})\T > ay’{d' a Au-d(Q_,
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@Cmmc{ o wih K3 < adding & c;oss /wru((./”
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S#T = SHkR
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L
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Theorem.: Exery connacded compnct surace s 2quivalond
6 one of tha. 'Fc://owryvj'
57.
N R S TECEC S
RP#- AR (09
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o an*e. Aumber oP opent dists.
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SUecogIve 31“'“3 rqguHs in an o_co(lmwj Sur:;;w
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wnknot vnlink {‘Mﬁ- i ) LJ} unknst
ned on'o.r\*u\k_

Rl hows can vt possibly qet Clossifi cadion of Surbhce.
sas the Sertert SW‘R\.UL«
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We will_See. ZI&J X is an nvarnent f‘thﬂ.JUﬁ[;t-u
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{etmhedron
cobe
octohed ron cé(fl__l;ttj
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1766((%)0\.«) S

LS 452\ = K(8)#K(5) -2
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_.D.;P 77l¢ 3911_2 o/") & /014, 15 -f}u_. mmnm[_ vs "[ Q,
&)IP'E(&, Sb\(pa_uu Mo (inv;&r\unt_\:\(til. "\\
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Ther s (K#K) = qoavs(K) ¢ s (k)

. S
Levv\m\‘i' et G= %9.45 S S wt a]cm:sc.-

Sl (-4 nor‘.’,e? Sce =» WUS(Q‘,‘)z '9%-1 (%US c-rd\'g_onn.

- L sep S TP Gprws(Se) = GEE 9 socfaca, 15 Sum

Lo pac = genus (3) = q 5§ Ggrancd)..
Pe: Use X

ol £ TR @) Glue (rnmimaD.Suer fe K X to
%.’Zj‘. some. , not, ﬂwSSa.rl’\:) m)m'rme
Gune it e for KX
(:S) Stoct with {Vm{mML! Sm'?qu— Qr K# kK’ 5
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A& 2rd, bhove ore ar o inkegeetion, o SurQaca._Pw KeK’
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C_Q(‘i km’cs_do not hae inverees

Anothar oref (2):  Say K#K' =0

Qi oREl: = 0
(k#y\\\-ﬂ (kakY&--- = O
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C’I; GChu‘S \ kncrks ace {)r‘\mq_,‘
Gor = Krols have prime. decompasitions
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CA'{\ w M%
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LrchnS‘n .



| 0
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Treful > notZ  This s e oryral proof, die b MoxDobn
bt 3 D40

—

We Mu_b(‘.ﬂi.v“ \:m} (oJaJ(-‘nq Knets by APpS (Smilar+o Alex gbh‘) :
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S%mrﬂﬂlnt‘. Gr‘oug.s
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et [ A wrten (umg'wdq) 45 o Product
of syt cuycles
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0, \//Q_ 9l4-"=r

@ The labes Yrererde . @

Fact: All labels are ijqao.’(e_
. The role says tach arc. label 15 conj to pext.
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10/29

Knoks ard Grovps
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§
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Zf WQ a’e{/l’;\& 2 rap | 3 n",/s‘) i
l}\- ok — &7("]

3
© Whll- dsfinadl . Soy wre’ e thae s o homelepy
i

,(Dto Gt /k!zvquvt’ ynto 179/4._5 uarts_anrdd
H:[ Yhe howo”bptj. ’Pe.w?“mas hom‘l’o% 1}[\
C 2adhs leats erdoonts ot ieaprs, hancy Fxed |



@ \rg'cctwe. flyz=o = % a |00f = 5 }\oms'rofrc, meg

boesqoinl. 92 (s hovmslopy) 15 o homiopy
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A knet s cldemmad ‘)\:) s
extemor
Q\)l:mmnl& AK(C)__rrmn .Kno{ &w

Fox_derivative, _Z[G]m— 2063 yopring  G=fa.
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Thoath gt postie [a‘nk\h:! umbar ! l-lgpf Link
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wdsr Reiel wves g .iuhy_ oF CreIsINgs thos it

15 SEpa. o8 ur\\ihh' sSg ot 1S e -
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CM,L Hhis ‘ht‘.{c { l

&?Lf) compeie M.
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Gal: D £

“Thegeern: 1f V s o gc.fw{ mad nx (ev K Than
Axlt) = dob (V-1 V)

Poo:f? W et st shew dhis RNS 4 invaMant

Cor - Axld) = 2 AR(E™Y) semar

PP ARl = dak V-tV (V- EVEY)
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J‘ oty N ey ac whih @ ]Rq G(Z‘LYM’M
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<H> =7
T Ima_vea
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(lt#ef:dmm ).

Toes, orientuion, msster

\)OMS(—‘R)l\inomu,( A = —t = |/4‘



/'//14.
mmoht ’Pcilqnomml
{0y = |\
Loy - (AA) LS
GAIGN G DL AN
exarmples: {0 = —A3 observation. Swriching oM cmssings
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= mox deg X(K) = - mun Ang)(LK\.
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Jones Phynomiol
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ALK = A7 = (A AYOLD
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-A XY+ AT ) < (AT AP X (). W
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Raled (Invanunce) \_/thvu_'\ § Ll
Rale2 (Neematizatio V(0 -
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(/{m‘}"m Ordar all  onerpd | binks \)-‘ l&xlwam:?)ﬂu orda
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“This s ot a_new folyromial bud 1t s necer in i’hﬂ’cﬁ,
{‘\or' \<N;‘\§,’ \/ S\ POI\-()'&CL“_"LC;L " A’A, or, Ciif.

The Jones pdfnfnam/'a( a/rs%mgwshes all lfnm'; with €13 Cmsﬁuv'{)s
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Thaoem: \§ # of componunts of L is odd, V(L)€ 2[4,9:].
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One, adVarrfa%L oF Axton~adic. /Iéﬂm'{“wn d/) V(L) s that
it laxds you to othu invarwds. Just rep'acn. el et s

trth naw onas -

| AP AP ) = [P,

Jonas q =ga! '/r{ - 15
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Mloyandor 1 -1 @ -'Ig

HomfLy Y =it { Recortrs Yovus.
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e ll shows Canucu.3 Polj V(LY s an invanant . Hea: show
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N.B, L{mc,wcms works b any cima.or caamwn’rg Exostre s l\aw/ /aa‘
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Well- deinedness
g‘itfo‘ Qo iS_0on invanant.
Top: (K= ¢ e Ry (i s canrinert)
=0 ow.
’g‘. ook el exchavag, relcdion
AN S A R A A1)
L corst . o= O.
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wads, Can_swidcn vosings ot will wtheol changigthe
cantod terwo . o Swich unbil %9,{' unkver /.

g‘lz,f) ({300 SBon wariant
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= O _ow.
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(KR - (k) = e VIR
T in Fevm 18 consl. dorm o V(¥ = 0.

Go_di{lntrcg, o) [, Aeons i Zorn.  Duitch Crosngs wonchil
unkast .
Now asgpme {15 2- comporart[ink Cossing at wi_g_qws’mm
V(K- v(R) = 2 YK
\g:bmmcb n Linear termg s 1. B Same 1S
twe for Likang murbers. So statemeny dve F
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CHhwr cases,  oce eXextase. -
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What s next?? \/O:E_Siw 'hvo\nm\’cs 1990s.
iden. Instend of boking at one ¥not ,StudySpace. of all_knsts.
Net_an '!Hamsima)_s;aca., : @bTi) (% I
ey S
Unless we allew thise Seds to imermet ~ Sargu/av kn"’CS

mx)\ﬁi\m‘ @’
€58
A \/‘5 !llW lm/an_on{ 18 o punt_:(lav\,

V: {onemted S_Lryéu]om kno‘\s? — R that sat 131[’765
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[t durng ovt - g' C:emcm%s of all el our polynomials _are \ASSJ'W INAY 1entS
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